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ADS - Abstract Data Structures

Stack - zipqgn.Last In First Out - LIFO oexwr lr z
aer:zelert xtqn dl yidwix zipqgn zxivi - Create •zipqgnl qipkdl - Push •zipqgndn `ivedl - Pop •dwix zipqgnd m`d we
al - IsEmpty •zipqgnd z` owexl - Empty •.O (1) didz zelertd lk ly zelrdy mivex ep` ,Empty hrnljxrn i"r zipqgn bevii:Create •.n l
eba A jxrn x
bd .1.(zipqgna il yi mixtqn dnk) dpenk k = 0 dpzyn zx
bd .2:Push(x) •

A (k) = x .1
k ++ .2

if k¿n-1 .3
output(Stack full):x = A.Pop •:k = 0 m` .1."dwix zipqgnd".x = A (k) ,zxg` .22



:A.IsEmpty •.ok xfgd k = 0 m` .1.`l zxg`:A.Empty •

k = 0 .1zxyewn dniyx zervn`a zipqgn bevii:A.Create •

P=null .1:A.Push(x) •

P1 = malloc(stack) .1
P1 → value=x .2
P1 → next = P .3

P=P1 .4:x = A.Pop •:zxg` ."dwix zipqgn" xfgd P==null m` .1
y=P → value .2

P1 = P .3
P=P → next .4

free(P1) .5:A.IsEmpty •.`l zxg` ,ok P=null m` .1:A.Empty •

while (∼ A.IsEmpty) .1
y = Pop.(O (n) df)
Queue - xez.First In First Out -FIFO oexwr lr 
aer:zelertdy
g xez - New •xai` zqpkd - Enqueue •xai` z`ved - Dequeue •xezd y`xa in - Front •wix xezd m`d - IsEmpty •xezd z` owexl - EmptyQueue •
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jxrn zervn`a xez beviixai` `iven f`e ,d`ld jke 0d mewna dligz ,x
qd itl qipkn ip` m` - znieqn diral al miyp,mewnd xnbiie jxrnd dvwl ribi df seqae ,onfd lk dpini ff jxrna xezd ,'eke xg` xai` qipkne:mi`ad mipzynd z` jxhvp okle ,zilbrn dxeva jxrnl mixai` qipkp ,okl .dwix jxrnd zligzykdqpkd z
ewp - inp •d`ved 'wp - out •(`ln e` wix xezd m` zr
l lkep `l zxg` ik) xezd l
eb - s •:zelertd yenin:Q.New •.N l
eba A jxrn x
bd .1
inp=out=s=0 .2:Q.IsEmpty •`l zxg` ,ok s = 0 m` .1:Q.EmptyQueue •

inp=out=s=0 .1:Q.Enqueue(x) •:zxg` ."`ln xezd" xfgd s == N m` .1
A (inp) = x .2

inp++ .3
s++ .4

inp=0 f` inp==N m` .5:y=Q.Dequeue •:zxg` ."wix xezd" xfgd s == 0 m` .1
y = A(out) .2

out++ .3
s−− .4

out=0 f` out==N m` .5:y = Q.Front •:zxg` ."wix xezd" xfgd s == 0 m` .1
y = A (out) .2
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